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QUESTION 1

An architect must incorporate measures to prevent content grabbing. Which two recommendations should the architect
configure? (Choose two.)

A. Apache Sling POST Servlet

B. Apache Sling GET Servlet

C. Dispatcher filter section

D. Dispatcher allowed Clients section

Correct Answer: BC

QUESTION 2

A customer plans to display icons next to the search results for keyword queries on their site.

These icons should be based on the type of document that results from the search.

Which step should the architect recommend?

A. Copy the entire foundation search component into the project under /apps and modify the search.jsp
B. Create a matching folder structure under /apps for the search component with a custom search.jsp

C. Create a new component under the /apps project called search with a sling:resourceSuperType of the foundation
search component

D. Make modifications the search.jsp for the foundation component under /libs

Correct Answer: C

QUESTION 3

A client installs AEM using an application server. The architect must implement HTTPS in the client\\'s QA environment
with an application server as well.

Which three AEM components/configurations must be changed relative to the QA environment? (Choose three.)
A. Add secure flag to dispatcher configuration file

B. Install the SSL version of the dispatcher

C. Configure the CQ servlet engine HTTP service to use SSL using the company certificate

D. Configure replication agents to use SSL

Correct Answer: ACD




QUESTION 4

Which two requirements typically involve integration with a third-party service?
A. Approval Workflow

B. Federated Authentication

C. Coordinate-Based Store Locator

D. Watermarked Image Generation

Correct Answer: BD

QUESTION 5

A customer is introducing blog and forum functionality. To handle the moderation of data between the publisher and
author instances, the customer needs to add reverse replication agents. The architect must create documentation based
on a proposed solution architecture.

Which two architectural diagrams should the architect modify?

A. Logical

B. Physical

C. Conceptual

D. Data Flow

Correct Answer: AD

QUESTION 6

In which type of architecture diagram would the architect be most likely to list the IP addresses of individual servers?
A. Physical

B. Logical

C. Conceptual

D. Data Flow

Correct Answer: A

QUESTION 7

A client\\'s security team needs protection from repository content modification outside of its network on its publish



servers.
What provides the LEAST protection against this specific threat?

A. Disabling Sling POST Servlet and WebDAV functionality

B. Using Dispatcher filter rules to block access to /apps and /libs

C. Enforcing very strong passwords on all systems and using SSL

D. White-listing specific HTTP methods and URIs required for application functionality

Correct Answer: B

QUESTION 8

A multi-national company rolls out its authoring tools and site in English-speaking locations without regard to other
languages. An architect must augment the system to facilitate authoring content in French and adapting the resulting
tools to enable other languages added at a later date. Which tool allows the architect to manage dictionaries?
A.118n

B. Internationalization Service

C. Translator

D. Dictionary

Correct Answer: C

QUESTION 9

A packaged goods company is migrating its current site to AEM. The company has a presence in the US, but is
expanding into two other countries within 12 months of launch on AEM.

During which two tasks should the architect consider this expansion goal? (Choose two.)
A. Site hierarchy definition

B. Component development

C. Workflow implementation

D. Content migration

Correct Answer: BD

QUESTION 10

Which two business requirements can be achieved by using OOTB AEM components? (Choose two.)



A. A store details page displays an embedded map from Bing Maps.

B. A sidebar contains a list of PDF files tagged with the "Product Data Sheet" tag.

C. An article can be composed of an arbitrary combination of text, videos, and images.

D. An article has a Facebook Like button; the number of clicks are stored in Adobe Social.

Correct Answer: CD

QUESTION 11

A company\\'s news media website becomes unresponsive during an off-peak time. The AEM team investigates and
identifies a DoS (Denial of Service) attack.

Which two security measures should the architect use to reduce the chances of another attack? (Choose two.)
A. Change the passwords for default out-of-the box users (admin, author)

B. Uninstall all sample content and users that ship out of the box with AEM

C. Disable the default selectors .feed.xml and .infinity.json

D. Implement a Dispatcher filter to allow only known selectors

Correct Answer: CD

QUESTION 12

A small public sector organization needs helps planning the architectural design of its AEM system. The
reorganization\\'s few staff members resist learning new technologies.

What is the most important factor for the architect to consider while planning the system design?
A. Performance

B. Usability

C. High Availability

D. Extensibility

E. Low Maintenance

Correct Answer: C
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